Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

KS1731-260_OP08808_W1_NO04_200s.txt / MJD 51631.724422 / burstid= 751

= Grey line: exponential fit Peak flux: 2.290+/- 0.521 c/s/cm? -
C Black line: power law + gauss fit Fluence : 42.24+/- 7.45 clcm? ]
r Dashed line: power law A ’ ’ .
F Duration: 52.54+/- 8.91s 7
- Best fit model: 1. -
= ‘ Best fluence model: 1. 3
- | | Best duratow modTI 1. } 7
- HU | HHW kLA )ﬂ \H I H\ HH WH H“HHMH@
— Ul ‘ T J

; Exponential fit é
= Expon.time: 15.79+/- 2.38 s (chi*red= 0.82) =
= 0y + Wb o ot b bbb B + :
S Wﬂ%+ﬁ+www+ﬁMHﬁﬁﬂﬁﬂﬁﬁﬂﬁﬁﬁwﬁﬁﬂwﬁWﬂHﬂ*ﬂﬁﬁmﬂﬂﬁwWﬂ*Hﬁ%ﬁﬂﬂﬂﬂﬂw ﬁﬂﬂ*M##*H*HﬁﬂﬂwMﬂﬁH*ﬁ*ﬁﬂmﬁﬁﬂﬂﬂM%r
; Power law fit é
E Power law index: -1.308+/- 0.197 (chi*-red= 0.82) =
= W Wit b et e b bt b bbb b HE
= i W HW M i *ﬁWﬁﬁﬂw f f Mﬁﬂw W%H Mﬂﬁﬂﬁ it Mﬂ Hﬂ%ﬂﬁﬁw ﬁﬂw i ﬁ f H+ Wﬂ Mﬁﬁﬁ%ﬁm M Tyl wa Mﬁﬂ ) ﬂwﬁﬁw @ M%
i T T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 15.10+/- 5.33 s, fracgs= 0.14+/- 0.14) =
- Power law index: -1.116+/- 0.547 (chi*-red= 0.82) 3
= + Wt bbb b it :
= WWH% Mwmwwﬁ wWﬂwﬂﬁHHﬂHﬁﬂMHWﬁﬂH%ﬁﬂﬁﬁmﬂﬂﬁﬂw i Wwﬂ ﬁwwﬁ W%*WHH“Hﬂﬂﬂﬁﬁﬂ*ﬁ Mﬁﬂ N*Tﬁ”*ﬂﬂw Wﬁ%
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E

0 100 200 300

Time [s]



